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THER 1/3
TfE Fe1) TEMR A7 R REHEE fE
L.=ZaeL
TETE4H SS400 C-150X75X6.5 kg 721.87 722
TETZER SS400 C-75X40X5 kg | 265.92 266
SGEH > X kg 987.79 988
T kg 987.79 988
FUVTV/h- SUS304 ZN 14 14
HNE T kg 987.79 988
2. EAR T
IS AR SUS444 1014X3014X 3.0 K 5 5
& AR SUS444 1014X1014X 3.0 K 5 5
JEE AR SUS444 1014 X 2264 X t3. 0 K 1 1
JE& AR SUS444 1014 X 1764 X t3. 0 K 1 1
HANE T m2 | 24.0 24
3. AHIHR T
LEC AR SuS444 1000 X 1000 X t2. 0 K 20 20
2B MK SUS444 1000 X 1000 X t2. 0 K 20 20
SEEEMIMK  SUS329J4L 1000 X 1500 X t1. 5 K 20 20
1B HAE0H  SUus444 1000X 1000 X t2. 5 K 6 6
2B B UMK SUS444 1000 X 1000 X t2. 0 K 6 6
3EYHAEEIH  SUS329J4L 1000 X 1500 X t1. 5 K 6 6
FANT T m2  91.0 91
4. R T
FKHAM  SUS3297T4L 1000 X 1000 X t1. 5 K 24 24
HNT T m2 | 24.0 24
5. BB AR L
7 V=AkF SUS304 L-50 X 50X 4 kg = 49.28 49
7 V=AkF  SUS329J4L L-30X30X3 kg | 17.47 17
S18EAF  SUS304 L-50 X 50X 4 kg | 36.22 36
2k SUS304 C-80X40X5 kg | 112.42 112
il FE  SUS304 L-150 X 75 X6 kg 434.66 435
Ml £ SUS329J4L L-150 X 75X 3 kg 119.93 120
RKIAE  SUS329J4L L-40X 40X 3 kg = 26.27 26
T kg | 796.25 796
Ry kg | 796.25 796




ITHER 2/3

TfE Fe1) TR Tk A7 R REHEE fE
6. 17 L
AFLZE  SUS3297T4L ¢ 600 1l 2 2
WS SUS32974L ¢ 350 Bfj st 1 2 2
A7 SUS304 20A 3.5HM 4 A GEABT LMD | {# 1 1
B+  SUS329J4L - 444 130 3. 5H/ fi# 2 2
F {4 SUS304 20A X 1100H m 19.0  19.0
OE L SUS444 t2.0 (& L) m 19.0 19.0
ke yb SUS444 500 X 800 X 555H 1l 2 2
EAE  SUS329J4L 20A 1 2 2
RHLEASGE SRS SUS304 0 1E 1 1
KALERE SUSHU 100A B faift %N 1 1
A SUS+HU 100A [ faifst ZN 1 1
AT AALE 18 2 2
£/ N GIE K oS & 2 2
AT ST 1 1 1
AT BT & 2 2
70 I S m 19.0  19.0
AT OEL m 19.0  19.0
P T KL b 1 2 2
AT AR 1 2 2
PR T R AR B A & 1 1
P T KfZER A %N 1 1
PEAF T EMO 1 1
7. NEECE T
WA SUS304 2F[EE 100A X 350L VN 2 2
WA SUS304 2FHH4S 100A X 900L X 347L VN 2 2
B SUS329J4L E&T97" [ 100A X 1400L VN 2 2
B SUS316 1FE% 100A X 2050L N 2 2
B SUS316 2FHh4F 100A X 997L X 347L VN 1 1
i SUS316 3FF-2" 100A X 347L X 200L X 200L | A 1 1
B SUS316 2F[EE 100AX 1697L VN 1 1
7u—hk SUS NIRT-bE 1008 A Lo MMERE | HR 2 2
PRI SUS304 HEPRALE 100A #*% 2 2
TS SUS304 IFE 150A X 450L VN 2 2
PERE  SUs304 IF[E % 80A X 450L VN 2 2
HORE  SUS304 1FE% 100A X 200L VN 2 2
IR SUS304 3FF-2" 100A X 160L X 160L X 150L | X 2 2
HORE  SUS304 2FIEE 100A X 250L N 2 2




ITHER 3/3

TR T3] TR Tk HNL B EHEE i
8177 FCD J7 M =vAHEEIFR 100A %% 1 1
HK#eFp CAC, SUS 65A (V& v h-=v AP 2 2
HEFHS  SUS316 7 VTR 1000 EOKF | HH 4 4
HEFAS SUS304 7T VTR 1000 EOKF | HH 14 14
Bi/& S RFZE S SUS304 80AM  (HEAKE) 1 2 2
B/ S PR SUS304 100AFH  (FEA-BEGEAE - @) | H 6 6
BoAE SCRrAEE SUS304 150A/H () & 2 2
AT P MIAAIELT T 80A m 0.9 0.9
AT P RIAAIERLT T 100A m 15.7  15.7
AL S RIAAIEL T 150A m 0.9 0.9
T T 75 UMEFET 100A-7.5K | # 18 18
RE T HUIFRERE T 100A -8 1 1
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R FHEBEER 1/1

Tf# Fe1 TR~k AL BoE  BGHEE fE
FEfEa T RC40 t=150 m2 37.440 37
L=z V—rL o =18N/mm2 fEAGHEEY Bl m3 | 3.744 4
a7 Y—hL o =24N/mm2 kA& m3  19.39 19
B LA T ) LB m2 2.480 2
TR T R AL S m2  35.496 35
kL N T4 & 0 SD345 D13 t | 0.164  0.16
L kRN T4 XV SD345 D16 t | 1.321 1.32
N HEE N X VT m3| 0.033  0.03
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¥ B H 5 OB
I i H B IR IE
g A ==X = #H =
HEERAT m2 | RC40 t=150
ARIKER
5.200 X 7.200 = 37.440
BEt = 37.440 37.440
BLarsy—+x m3  o=18N/mm2 Ef#EEY thLar
ARIKER
5.200 X 7.200 x 0.100 = 3.744
BEt = 3.744 3.744
avhH)—kI m3  0=24N/mm2 fitEE
I R &R
5.000 X 7.000 x 0.400 = 14.000
BB ER
7.000 % 0.050 x 1,72 X 5.000 = 0.875
kY
(0.596+0.550),”2 X 0.400 X 6.400 X 3 = 4.401
FEPREEPIERR
-7 /4% 0.25072 %X 0.400 X 2 = -0.039
FEBEER(a)
0.350 X 0.750 X 0.144 X 2 = 0.076
FEEER(a)
0.350 X 0.410 X 0.161 X 2 = 0.046
FEREER®D)
0.350 X 0.340 X 0.131 X 2 = 0.031
BFt = 19.390 19.390
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¥ B B ¥ B
I 7 H B IR IE
E A ==X =1 = % =
HLEBRT m2 | HLER
KK
(5.200+7.200) X 2 X 0.100 = 2.480
BFt = 2.480 2.480
BT m2 | SHEHEEY
JE R ER
(5.000+7.000) X 2 x 0.400 = 9.600
B ERER
7.000% 0.050 x 1,72 % 2 = 0.350
kY
(0.596+0.550),2 X 6.400 X 3 X 2 = 22.003
i EY{EIE
0.596 X 0.400 X 3 X 2 = 1.430
FAREER
7T % 0.250 X 0.400 X 2 = 0.628
SR a)
(0.350+0.750) X 2 X 0.144 % 2 = 0.634
FEBEER(a)
(0.350+0.410) X 2 X 0.161 X 2 = 0.489
FFEFEE(b)
(0.350+0.340) X 2 X 0.131 x 2 = 0.362
&5t = 35.496 35.496
B®EHT t $EMIREY
SD345 D13
164 X 1,-1000 = 0.164 0.164
t $EMIREY
SD345 D16
1321 % 1,71000 = 1.321 1.321
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#H = H OE E
I 7 H B IR IE
E A ==X =1 = % =
EIVEEILZILT m3
FmREER
7T /4 %0.25072 X 0.400 X 2 = 0.039
B E 1R
-7t /4%0.10072 X 0.400 X 2 = -0.006
&5t = 0.033 0.033
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HBF =GR ERER (1/1)

T.fd GElll TEAR 1 HAr i RGHE HE
1. +T%
ek R T BHO. 45 (0. 35) i m3 | 20.931 20
MR T BHO. 45 (0. 35) mi » & /% m3  12.331 10
AT EIFRALSY BHO. 450, 35) ni, Dt10t-3.5kni8 4.5l T | m3 | 7. 230 7
2. WA T 5
FEAEA T RC40 t=15cm m2  6.60 7
BLarry ) — MR R BLlar2sU—F  m2 0.52 0.5
HLaryz7)—F T ASIFTRENEME 72 U, 18-8-40BB, —#k#A m3 0.33 0.3
T T —fRTRE Bk - ML 2 U — R m2 | 29. 442 29
g7V — ML TR N 72 U, 24-12-25BB, — e | m3 | 5. 098 5
AT SD345 D13 10tAif t | 0.513 0.51
AELE LA VT N JETRE MR L. 18-8-40BB. —faEA m3 | 0. 121 0.1
WwIET B - WIKERER A IR AR | m2 | 32. 55 33
3. B T
L% 7y 7HEfHT T
=T VAT w7 $19X300 4 4
SR I T & AT 4 4
2. B MK
VU ¢ 50 m 0.4 0.4
L oVEA T m 0.4 0.4
Pk B MLB0AH] Wi b (A RE A X 1 1
W UBS IEAF  £=30mm m2 0. 09 0. 09
3. WX H
AL A BRI SUS  100A 1 1 1
AP =N AR /NEW 7R L, 18-8-25BB, —f%#&E | m3 0. 048 0. 05
UM T — b 8kA - =27 U — bk m2 0. 36 0.4
R FepfE T, t=10cm m2 0.16 0.2
4. PEFTERE
DRt EE S SUSHL - 2050 <2850 443 L 1 1
MERTEERE & T 1 1
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HEftE — TI=E
2 5 HE AR F - (F v 2
‘ 2800 % 2000 ‘
| |
8 77777 777
L 3000 x 2200 J
3600 x 2800
4900 x 4100
W ERIE T 3.00x2.20x0.20 1.320
(EEfE+LmEfE) /2x5s
(3.60x2.80+4.90x4.10) x1/2x1.30 19. 611
20.931] m* | 20. 931
HET RHI-Fa+ Lo o+554K
20.931- (3.00% 2. 20 x 0. 20+2. 80 x 2. 00 x
1.30) 12.331 m 12.331
HETAMET EE-BERELLE
20.931-12. 331/0. 9 7.230 m 7.23
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RAREHEPATE

£ L1 i B
2800 x 2000
‘150 2300 x 1500 250 |
] I
JFEILYRTFY T -
(L#SPA00. K'Y TOEL U RIFBMT LR L) |
A
S ‘
. R .’é“ S o}- A T
! . NZN Lo oo gy Sm——
e
S % \AEELSL L
= 2 200 200
3 / |
50 2300 x 1500 | 250
2800 x 2000
3000 x 2200
HBERAT RC-40. t =150mm
3.00%2.20 6.600[ m’ 6.6
HLavyy— rERT J|IEEY
(3.0042.20) x2x0.05 0.520 0.520
HyLarvosy—rx 18-8-25BB
3.00x2.20x0.05 0.330 0. 330
BT BEEEY
AL (2.80+2.00) x2x1.90 18. 240
Pl (2.30+1.50) x2x 1. 60 12.160
B (M)
$118 —0.118%x2x2 —0.472
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HEHE — RAREHEPRAIER

2% i A i | 2

¥R ()

% 60 —0.060%2x 1 -0.120

B (M)

H114 —0.114%x2x1 -0.228

¥R ()

® 89 —0.089%2x1 -0.178

HKEw k 0.20x4%0.05 0. 040

b3 29 442 W’ |29 442

oV y—+I 24-12-25BB

LR 2.80%2.00x0.30 1. 680

HKEw k —1%x0.20x0.20x0.05 ~0. 002

Vel (2.80%2.00-2.30x 1.50) x 1. 60 3. 440

B

¢ 118 —7/4x0.118%x0.118x0.25x%2 ~0. 005

TR

b 60 — 7t /4%0.060x0.060x 0. 25 x 1 -0. 001

TR

¢ 114 —7/4x0.114%x0.114%x0.25x 1 -0. 003

TR

b 89 — 71 /4%0.089 x0. 089 x 0. 25 x 1 -0. 002

B (RA FE)

¢ 106 — 7 /4x0.106%0.106x0.25x2 -0.004

EER (RA FE)

¢ 157 — 7 /4%x0.157x0.157%x0.25 % 1 —0. 005

b3 5.008| m* | 5.098

AT SD345—D13 (Blifikir =S R) 0.5130 | t | 0.513
HRELZILT 2.30x1.502%0.035 0.121] m | 0.121
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RAREH=PATE

& ¥ Al B e i I B | % 2
BREEO ) — MREKIRIER
BT (7 1 BRE RFHK#)
Al (2.30+1.50) x2x1.6 12. 160
Fi# 2.80x2.00—2.30x1.50 2.150
g (2.80+2.00) x2x1.9 18. 240
b3 32.550| m® |32.550
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g “ \ frey L/ //
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£ LB ILEEE (50~20m)/ 020 w0 10 N
50| 1500 | 250
- 2000 _
Bl ‘
| K v 6=76.8
i e
J—TLYRTvTp19%x300
1. /)-, Sy 7°H2{TJ‘ +T (188400, RY FOEL U RIFER T LHEEL LT
J=TLYRTvT
¢ 19 x 300 4 4.000] & 4
EgtepEeT 4 4.000( #iFRr 4
2. Ew K
VU ¢ 50 0.4 0.400] m 0.4
tovERmET 0.4 0.400f m 0.4
$E7k B M50AF
SCobl D A AL 1.000( % 1
0% LN L RALE#4
t=30mm 0.3x0.3 0.090| m2 0.09
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i g 3 F - [ By | % =

BROM RS
SUS  100A 1 1.000] & 1
Y-+t
#r 18-8-25 0.4x0.4x0.3 0.048| m3 0.048
BgT
| 0.4x0.3x3 0.360] m2 0. 36
BaRERT
t=10cm 0.4x0.4 0.160] m2 0.16
MEIES
SUSHY - 2050 x 2850 44>l 1 1 000 %ﬂ 1
REMAEZHE

1 1.000( &FT 1




SHIMIX WAREFE Y b

T HuER | B = |AscomE L &

oA (Ke/m) (mm) Ke) | ZF| (ke
Al-1 D13 0. 995 5, 343 5.316 11 58
Al1-2 D13 0. 995 5,169 5.143 1 5
A1-3 D13 0. 995 5,142 5.116 1 5
A 2-1 D13 0. 995 6, 577 6. 544 7 46
A 2-2 D13 0. 995 6, 141 6.110 1 §)
A 2-3 D13 0. 995 6, 465 6.433 1 §)
A3 D 13 0. 995 1, 847 1. 838 13 24
A4 D13 0. 995 2,647 2.634 9 24
A 5-1 D13 0. 995 2, 208 2.197 35 77
A 5-2 D13 0. 995 2,034 2.024 1 2
A 5-3 D13 0. 995 2, 096 2. 086 1 2
A 5-4 D13 0. 995 1,990 1. 980 1 2
A 5-5 D13 0. 995 2,007 1. 997 1 2
A6 D13 0. 995 9,736 9. 687 9 87
AT-1 D13 0. 995 1, 847 1. 838 14 26
AT-2 D 13 0. 995 1, 630 1.622 1 2
AT7-3 D13 0. 995 1, 469 1.462 1 1
A8 D13 0. 995 2,647 2.634 16 42
A9 D 13 0. 995 337 0. 335 44 15
A 10 D13 0. 995 315 0.313 §) 2
All D13 0. 995 317 0. 3156 20 §)
A 12 D13 0. 995 600 0. 597 16 10
A 13 D13 0. 995 600 0. 597 16 10
A 14 D13 0. 995 600 0. 597 16 10
A 15 D13 0. 995 500 0. 498 16 8
A 16 D13 0. 995 557 0.554 35 19
A 17 D13 0. 995 504 0.501 32 16
D13 N E 513

D 19 N 0

D 22 N 0

D 25 N E 0

& & 513
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BNEE RAERERIER (1/2)

A T3] TR BN B RGHEREE
B
PL-P  1F4E% 100A X 1500L N 2 2
PL-P 2Fifi%% 100AX90°  850LX 160L N 1 1
PL-P 2Ffi%E 100AX90°  550L X 160L N 2 2
PL-P 2Ffi%% 100AX90°  850L X 160L N 1 1
PL-P  4F%yI; T 5% 100AX 100A  850L X 300L X 150H N 1 1
PL-P  A)=7"¥" af/} 100A 1 1 1
A =) B.N.P ¢ 100 RFJE L 11 11
7T v TR B.N.P ¢ 100 GFJE i 1 1
7T UK HafKB.N.P ¢ 100 RFJE HH 2 2
AL 100A 1 1 1
XS NS-Efi ¢ 100 1=5. Om N 3 3
ik X iy NS-EFf ¢ 100 ’r 1 1
iiik=g NS-Effi ¢ 100 X5° 5/8 ’r 2 2
HE1E NS-EFE ¢ 100 ’r 1 1
KWK T 748 ¢ 150 X ¢ 100 ’r 1 1
"l E S E FXF ¢ 100 H=200 P 1 1
e S E FXS NS ¢ 100 H=200 e 1 1
V7 — g ¢ 100 p-s 2 2
HOIHR Y 7 A H=600 1 i 1 1
N-Link ¢ 100 el 2 2
FAF ¢ 100 i 4 4
RICEEEM ¢ 100 A 1 1
7T YR — b ¢ 100 i 1 1
AT T T kg 38. 14 38.1
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BNEE RAEEERIER Q/2)

T vl TRk HAL HE BRGHEE W
ik L.
PE AT T 100A m 7.74 7.7
AT =TI VARTFET ¢ 100 | 2 2
75U UMET ¢ 100 i 14 14
BRRT—T L ¢ 100 m | 21.03 21.0
PRERE AR L ¢ 100 m | 12.50 12.5
NSHEF T (E) ¢ 100 | 4 4
NSHEF T (SIEE) ¢ 100 = 1 1
NS##F T (N-Link) ¢ 100 ] 2 2
NS T ¢ 100 i 2 2
EEFERE T ¢ 100 EAs 2 2
) FBOXER & T ¢ 150LLF  H=600 i 1 1
AN E#E L DIP ¢ 150X ¢ 100 & 1 1
Al D ERRE T $ 100 FXF EAs 1 1
LD EERE T ¢ 100 FXS K 1 1
RYTF LR —=THEL  $100 EEHTLNCR m | 15.07 15. 1
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HEHE — KOTHRAEMRIE

% £ HFEXFTLFEIRALR B | % 2
(B#)

HES

PL-P 1FE% 100A x 1500L 2 VA 2

18E% 100A x 90°

PL-P 2Fpi%E 850L x 160L 1 1 =X 1
100A x 90°

PL-P 2Fpi%E 550L x 160L 2 VAR 2
100A x 90°

PL-P 2Fpi%E 850L x 160L 1 1 =X 1

1858 100A x 100A

PL-P AFH I T  [850Lx300Lx 150H 1 11 =X 1

PL-P  &U-7"¥" a{ub 100A 1 11 & 1
B.N.P

75 OHFH ¢$ 100 RFf#z 6+ 11 #8 11
B.N.P

75 OHFH $ 100 GFfz 1 11 #8 1
#E13B.N. P

75 OHFH ¢$ 100 RFf#z 2 2| #8 2

PP 100A 1 1 & 1
NS-EfE

[EX= $ 100 1+1+1 3l & 3
NS-EFE

b =g ] ¢ 100 1 1 r 1
NS-EFE

B & ¢100%x5° 5/8 2 2| & 2
NS-EFE

EE1S ¢ 100 1 11 & 1
NS-EFE

T¥AKTEE @150 % ¢ 100 1 1 o 1
FxF@100

AESE H=200 1 11 & 1
FxS NSHz ¢ 100

AESE H=200 1 11 # 1

VI RU— LR | 6100 2 2| # 2

HUFRY IR h=600/4 1 11 #8 1

N-Link ¢ 100 2 2| %A 2

>4+ ¢ 100 4 4 #8 4

EREEEM ¢ 100 1 11 #8 1

2500 R—F ¢ 100 1 11 #8 1

29597 DIPEE 3.36x11. 34kg/m+0. 04 x 1 38. 14] kg 38. 14
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HEHE — KOTHRAEMRIE

22 Lo FEALFLERELE B (% 2
(AR T)
MERBRT 100A 1.50%2+1. 01+0. 71%2+1. 01+1. 30 7.74 m 7.74
AAZHIBFT ¢ 100 2 O 2
IS5UCMFT ® 100 15 150 0O 15
ERRT—II ¢ 100 7.76+15.57-1.15%x 2 21.03] m 21.03
R EMERT ¢ 100 15.57-1.05-1. 15-0. 25 x 2-0. 37 12.50f m 12.50
NS#:FT (EE) ¢ 100 4 4l o 4
NS#FT (EWE) ¢ 100 1 11 A 1
NS#F T (N-Link) ¢ 100 2 2l O 2
NSEIER T ¢ 100 2 2l O 2
TUHRET ¢ 100 2 [ & 2
U1 FBOXERE T h=600A 1 1| & 1
DIP
THKERT @150%x ¢100 | 1 1| #fr 1
AIESERET @100 FxF 1 11 & 1
AESERET @100 FxS 1 11 & 1
BEERAIT LAY
RUTFLoRY—JHET[ P 100 15.57-0.25 %2 15.07f m 15. 07
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¢ 100 mm) Y EFE HERL= 5.0 m
Yo | 1 |72 o HHIX oo x| YD | Uy || e S
1.64
1.6 V0.0 0.0 | 0.0 0.0 |V 0.0
1 [ NSNS 1 3. 360
A 0 0 0
2.50| 2.50
2.5 V0.0 0.0 0.0 0.0 |V 2.5
2 | NSNS 1 0. 000
A 0 0 A
- bl b OEE
3 TE | a8 R ol ol ol o 3.360
41 2.5 6.6

3.360m X18.62=0. 063ton

v
Y
A

: Bl - YD
S EEID A
: Gl o A
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FNELE i HE R 1/2

T vl TR ~HE L Bl | RRGHERE]
G
PL-P 1F&E% 150A X 1650L %N 2 2
PL-P 1FEE 150A X 1200L EN 1 1
PL-P 1Fph% 150AX 6° 40° X 1000L X 125L FN 1 1
PL-P 2Ffh% 150AX90° X 280L X 235L VN 2 2
PL-P 2Fih%& 150A< 90° X 1000L X 235L N 2 2
PL-P 2Fih%& 150AX 90° X 235L X 235L EN 2 2
PL-P 3F T4 150A X 150A X 1000L X 235H 1 1 1
PL-P 3FT % 150A X 150A X 370L X 200H i 1 1
PL-P  A)=7"V 3V} 150A Sl 2 2
77 v URFER B.N.P ¢ 150 RF¥ i 15 15
77 v URFER B.N.P ¢ 150 GFE HH 1 1
7T v URRFM HifxB.N.P ¢ 150 RFJE il 2 2
B NS-Ef& ¢ 150 1=5. Om EN 2 2
TETTE NS-Efi ¢ 150X ¢ 150 ’r 1 1
kX NS-EFe ¢ 150 ’r 3 3
Hh NS-Efi ¢ 150 X 90° b 2 2
Hh NS-Eff ¢ 150 X5° 5/8 r 1 1
HEE NS—Ef& ¢ 150 r 1 1
RIAK T 74 ¢ 150X ¢ 150 o 1 1
"L & FXF ¢ 150 ’r 2 2
V7 k= AL ¢ 150 I 2 2
ZHELY 7 F—AAtg | ¢ 150 I 1 1
N-Link ¢ 150 bl 9 9
A4 F ¢ 150 bl 2 2
HIEE A ¢ 150 il 4 4
75 UYR— b ¢ 150 bl 6 6
fEEIFRAR v 7 2 h=1200 i 1 1
fEEIFRAR v 7 2 h=600J i 1 1
A =T ¢ 150 oS 1 1
AT T T kg | 4.993 5.0
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SR I HUE M RIS (2/2

T vl TR~k XA -6 S S
Figk T
EAARR L 150A m 11.77 11.8
A B = HNAEFT ¢ 150 i 4 4
77U UMEL ¢ 150 M 18 18
ERRT—T7 T ¢ 150 m 25.70 25.7
PREkAE AN L ¢ 150 m | 12.66 12.7
NSHEF L (E5E) ¢ 150 ] 2 2
NSHkF L (FIBE) ¢ 150 H 4 4
NSHET-T. (N-Link) ¢ 150 ] 9 9
NS Y T ¢ 150 i 4 4
HEIFpaE T ¢ 150 5% 3 3
fEYIFBOXER & 1. ¢ 150LLF  H=600 (£ 1 1
{EHIFRBOXER & T ¢ 15000 H=1200 (£ 1 1
AP — LT HRET DIP ¢ 150 E T 1 1
AR EAE L DIP ¢ 150X ¢ 150 &ET 1 1
Al D ERRE L ¢ 150 FXF #= 2 2
RV ZF LRV —TWEBT | $150 [EEHITLNR m 15. 98 16.0
et Ly
KRR T BERR & Hefor A WA A F




BEHE — RUTHRHEARHRIE

% b HEXRFTLFEIELE Bifs 2
(B#)

1B

PL-P 1F@EE 150Ax 1650L | 2 2| K 2

1%

PL-P IFEE 150A x 1200L 1 1l X 1

b1 150A % 6° 40’

PL-P 1FHh%E 1000L x 125L 1 1l X 1
150A x 90°

PL-P 2FHh%E 280L x 235L 2 2| K 2
150A x 90°

PL-P 2FHh%E 1000L x235L | 2 2| K 2

1B 150A x 90°

PL-P 2FHh%E 235L x 2350 2 2| K 2

PR 150A x 150A

PL-P FT*E 1000L x 235H 1 1l X 1

1R 150A x 150A

PL-P FTFE 370L x 200H 1 1l X 1

PL-P &J-7"%Y a{ub |150A 2 2| f@ 2
B.N.P

TS5 MEM ¢ 150 RF#s 15 15| #8 15
B.N.P

TS5 MEM $150 GFf#z 1 1| #8 1
##%B.N.P

TS5V MFEM ¢ 150 2 2 #8 2
NS-EF&

[EX= ¢ 150 1+1 2| K 2
NS-Ef&

—2TFE 6150 ¢ 150 1 1| » 1
NS-EF&

e EER ¢ 150 3 3| & 3
NS-EF&

HhE ¢ 150 x 90° 2 2| & 2
NS-EF&

fheE ¢150x5° 5/8 1 1| » 1
NS-EF&

HEIS $ 150 1 1| & 1
NS-EFE

THATFE $150x ¢ 150 1 1| # 1
FxFg150

aAESE H=200 2 2| & 2

VI =L iEtIHF (6150 2 2| E 2

ZELY I Fo—iEs|d 150 1 11 1

N-Link ¢ 150 9 9 #A 9

S4F ¢ 150 2 2| #A 2

EREEEH ¢ 150 4 4] 48 4
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BEHE — RUTHRHEARHRIE

s W FELFLEIRAR B | # 2
25 VOYR—F ¢ 150 6 6| #A 6
Rk RS h=1200F8 1 1] #8 1
TRy o R h=6008 1 1] #8 1
A oH—bkNLT | 150 1 1 % 1
R959F DIPEEE 0.25x19. 97kg/m 4.993| kg 4.993
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BEHE — RUTHRHERRIE

% b1l FEXFTLFEREALRK B | =
G am)
MEMRT 150A 0. 515%2+1, 235%2+0, 47%2+1. 235+1. 65%2+0. 47+1. 2+1. 125 11.77] m 11.77
AAZHIBFT ¢ 150 4 4l 0 4
TS VUU#MFT @150 18 18] ~ 18
BEERF—TT ¢ 150 6400 T5e0, o800 E:0 ATe0 ety 5 AD 0510 25.70| m | 25.70
ESEMRT ¢ 150 16. 54-1. 15 x 2-0. 28 x 2-0. 55-0. 47 12.66] m 12. 66
NS#FT (EE) ¢ 150 2 2l O 2
NSH#EF T (EWRE) ¢ 150 4 4 0O 4
NS#FT (N-Link) ¢ 150 9 9] 0O 9
NSEIEr T ¢ 150 4 4 0O 4
HOHHZET 150 3 3 3
LY F#BOXERE T h=600F8 1 1| &FF 1
L1 FBOXERE T h=1200/ 1 1| & 1
A oY —brNLTHEBI (150 1 11 & 1
DIP
THIKERT @d150%x 150 | 1 1| &Fr 1
AESEREL $150 FxF 2 2| % 2
ERBAITLNY R
RUIFLURY—THET | P 150 16.54-0.28 x 2 15.98] m 15.98
(BT EEE) B
TRHE+RAE

BKRAERT ((16.54+11.77)+(15.57+7.61)) /1250 0.041f H 0.04
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o 150 mmi) Vv EFHE HEEREL= 5.0 m
No. | %&fE Ma@w =Ry o | ) | T || RE R
1.00| 1.00 1.00
.0 V|V 1.0 V| 1.75 vV 1.0
1 | NS-NS — — — 4 0. 250
1.75
v v \V4 \V4
\VARv v \V4
£ ¥ YEE
2 FY) | oY) OEE A 0. 250
1.0, 3.8 4.8

0.250m X27.21=0.007ton

v
Y
A

Gl - 1)
YD A
: Gl o A
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L E - S E R ER 1/2

T vl TR ~HE B AR
B
PL-P 2Fph%% 80AX90°  320L X 140L ZS 2 2
PL-P 2Fih%& 80AX90°  550LX 140L A 2 2
PL-P 2Fih%& 80AX30°  200L X 730L A 2 2
ARTTUY ¢ 75 & 2 2
VU ¢ 75X 4000L %N 1 1
TSF—=X $ 150X ¢ 75 & 2 2
V7~ — 5 FAN RV 975 S 2 2
77 v URFER B NP ¢ 75 A 2 2
7T v URFEM B.N.P ¢75 A 6 6
PL-P 2Fih% 100AX90°  160LX 1050L A 1 1
AT TP ¢ 100 & 1 1
VU ¢ 100 X 4000L %N 1 1
TSF—=X ¢ 150X ¢ 100 & 1 1
77 v URFER MofxB.N. P ¢ 100 #A 1 1
77 v URFER B.N.P ¢ 100 A 1 1
VU ¢ 50 X 4000L %N 4 4
VU > b ¢ 50 (i 3 3
75 TR VP ¢ 50 & 1 1
ARTTUY WA A - BERGTE ¢ 50 & 1 1
PR = B.N.P 50 bl 1 1
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LE E - SR EKER 2/2

T vl TR~k R | REHR
G
o VAR T ¢ 75 m 1.00 1.0
v = L E Gk L ® 75 M 2 2
AR L 80A m 4.16 4.2
TSHEF T ¢ 150 H 4 4
TSHET T ® 75 = 2 2
AT = I NETT ¢ 75 i 2 2
7T UVHMET ¢ 75 H 8 8
FEEN % E L ANF1 75 5 2 2
BERRT—T T ¢ 75 m 2. 86 2.9
v = VEARR L ¢ 100 m 0.50 0.5
v = LB T ¢ 100 i 1 1
e AR L 100A m 1.21 1.2
TSHET T ¢ 150 = 2 2
TSHEF T ¢ 100 ] 1 1
A= I NETT ¢ 100 H 1 1
77U UMEL $ 100 M 2 2
v = /VEARR L ¢ 50 m | 12.90 12.9
v = /LG L ¢ 50 5] 1 1
TSHkF T ¢ 50 i 7 7
AH=H VT T ¢ 50 = 1 1
77 UMFT ¢ 50 m 1 1
BRRT—TT ¢ 50 m | 12.90 12.9
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BEHE — RUTHPEEHRHRIE

% b1 FEKLFT-EFELE B | % 2

(B#)
80A x 90°

PL-P 2Fgh% 320L x 140L 2 2l K 2
80A x 90°

PL-P 2Fgh% 550L x 140L 2 2 2
80A x 30°

PL-P 2Fgh% 200L x 730L 2 2l K 2

Aho50 @715 2 2| A 2

VU ¢ 75 x 4000L 1 11 X 1

ISF—X ®150x ¢ 75 2 2| A& 2
N2 FIL

VI b—ILETH |¢T5 2 2| #H 2
@3B .N.P

TS UCHMFH @75 2 2| #8 2
B.N.P

TS UCHMFH @75 6 6| #H 6

(fAEkT)

EZILERKRT @75 0.5%2 1.00] m 1

EZILEYRT ¢ 75 2 2l A 2

MEMBT 80A 0. 46%2+0. 69%2+0. 93*2 416 m 416

TSH#FET ¢ 150 4 4l o 4

TSH#EFET o715 2 2] 0O 2

AAZHIBFET @75 2 2 O 2

TSV OMFET @75 8 8| O 8
AAB

HUFHRET ¢ 75 2 2| & 2

ERET—JL o715 0. 5%2+0. 93%2 2.86] m 2.86
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HEHE — KOTHBREHRRIS

% b1 FEXFTLEFERLE B (% 2
(&#)
100A x 90°
PL-P 2Fgh% 160L x 1050L 1 1| = 1
Aho50 ¢ 100 1 1| (& 1
VU ¢ 100 x 4000L = 1 1| = 1
IS¥F—X d150x ¢ 100 1 1| & 1
@3B NP
TS UCHMFH 100 1 1| #8 1
B.N.P
P R% L] 100 1 1| #8 1
(fAEkT)
EZIILERmET ¢ 100 0.5 0.50] m 0.5
EZILEYT ¢ 100 1 11 @ 1
HEMRT 100A 1.21 1.21] m 1. 21
TSH:FE T ¢ 150 2 2l o 2
TSH:E T ¢ 100 1 11 @ 1
AAZHILBFET ¢ 100 1 =] 1
TS VUUHMFT @100 2 2 O 2
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HEHE — NEHAEHEEARISE

% b1 FEXFTLEFERLE B | #% 2
(E#)
VU ¢50x4000L | 4 4 =x 4
Wy 45wy b 50 3 3| A 3
VPH
759 7% $50 1 1 ‘
RSMEIMA - BB
Aho50 ¢ 50 1 1| (& 1
B.N.P
TS UTHFH ®50 1 1| #8 1
(fAEkT)
EoLEHET 50 4. 0x3+0. 9= 12.90| m 12.9
EZILELT ¢ 50 1 11 O 1
TS#FET 50 7 71 A 7
AAZHIVEFET ¢ 50 1 11 O 1
TSUCHET 50 1 11 @ 1
BERTT—7L 50 12.90 12.90[ m 12.9
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EELTT HERER

A vl 2 INRR?S HAL| ME | EHE
+T
SHEE Gk T As  t=15cmPA T m | 25.88 26
SLEEEE T As  t=5emPA T m2| 8.17 8
BhEET Z 5y T As m®| 0.37 0.4
BEAR R I T BHO. 2 m® | 56.56 60
Nk T m’®| 2.57 3
MR T BHO. 2 m®| 18.34 18
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T & e L »AT 39
s ‘
|
|
T25A(14A) 300
EL
PB25A E | JECV—‘RM’O
|
. MVU300
) et
Z B A B =X Hir| &% &
el ERLTICET m’
7Sy BT TICET m’
HERRL BT TICET m’
HEmERE L BT3¢ 150, 2mLL T |1 1.00| # 1.0
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T H 4 R 27—k L 1 =K e,

s X

avyy—=+ avoy—=»
Ve (18-8-25) // (18-8-25)

S,

N
/

100
100

M

XIMZ LB ERBET S & X1mZ LICHERET DL

£ PR b57A s it (= = AL ¥ =
a7 —hIL 18-8-25 47.57%0.1 = 4.76 m 4.8
H T 20mm (0.54+0.81)*1.56 = 2.11 m 2.1

IR

] 23.8%1.56 37.13 37.13

EERa 3.6 3.60 3.6

PR (13.76+4.95+8.6)%0.3-0.3"2%15 6.84 6.8

3t 4757
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